o} 42437k ABC o4 AB 919] /B = /BCD 7} 5|5 4 D
£ 709 AD = BD = CD 92 Z9st #3e0leh. (Ph~(h el
Solg fgom dure A9
A
D,
B o [ C

/B = o|B& ABCD + o 5HAZ g ol

et BD =| (4 | oI+

A2+ ABC oA ZA+ /B+90° = 180° O] B2 /A = 90°- /B
oltt.

/ACD + = /ACB °| A LACB 7} 90° o] B2

/ACD = 90° —| (2}) | o]t}

19 /B = o2& /A = /ACD O|t}.

wtebA AACD = ol 5z e]2=2 AD = CD ot}

- BD =CD = AD °Jt}.

@ (7}) :.ADC @ (W) : BC ® () : /BDC
@ (2h : «BCD ® () : £ABC



thg oA A M 2 A7 ABC 9] 940l £C = 36° &

o, sx ©] 2718 Fotola
A

36°

@ 15° @ 18° 3@ 20° @ 22° © 25°



3. T aABC o o= 0L & o, v o 277
A

@® 10° @ 20° ® 30° @ 40° ® 50°



S 283 -2 AABCO|A /B:2C=2:3°]1, AD = BD = CD

7t HE2 M DE FYLS u, BAD = ( ) eleh ( )
oto] gore 8 Fajolet.
A
X
B f t C



SH
=

o] glo]7} 36 cm? o] 2tal

2

9
s
1—

9]
|

3 ABC 9] 9|4
H

@ 6 cm ® 9cm @ 12cm ® 18cm

@ 4cm



Che 1H o] HPAPHYE ABCD °f|A ¥ CD o] SH=E 2 sk, d
Fol e F Al ottt /DAF = 70° S &
ol, /DFE = ()° o]tk () Stoll 018 &2 45 F5fofet,




7. o I9olM H O aABC 9 2JHoHA Ao AACD 9] 2H Y
o, /D o] 27|& -5t}

A




